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Jt =X or £ =(2a\;'?]: or 4 Ml Correct rearrangement l'orJr- or correct
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Question 5

x=y+1
Question 6
_ 3x(x+4)
3x+4
Hx+4) 2xv M1 | LHS may be two separate fractions or one single
F————=30r fraction
x(x+4) x(x+4)
YE+d) | 29 3X(x+4)
x(x+d) x(x+4) - x(x+4) (brackets may or may not be removed on RHS and
denominator)
yix +4) + 2xy = 3x(x + 4) M1 | LHS may be two separate fractions or one single
or fraction; if one fraction, numerator on LHS may or
may not be simplified
xp+4y 2xy =3 or (implies previous M1)
Hx+4) x(x+4) (brackets may or may not be removed on RHS and
denominator)
x4y 2xy  3x(x+4)
xx+4) x(x+4) x(x+4)
xy+dy+ 2y = 3 +12x or M1 | (brackets may or may not be removed on RHS)
xy+ay_2xy =3x(x+4) or (implies previous two M1s)
Ixy+4y=3x"+12x or
I+ 4y =3Ix(x+4)
V(3x+4)=3x(x+4) or M1 | LHS factorised correctly - expression in bracket on
YOx+4)=3x% +12x LHS may or may not be simplified
3x(x+4) AL | 3x(x+4) 3t +12x
Ir+d Ix+4 Ix+4

a fully correct method must be seen in order to
award full marks



